The unit of dis tauce

the parsec (pe)

-
Stellar dis tawces ave

hvge . The

parsec is the

Cdistance From wWhich the
Fadivs of the orbid of the
Earth Svbtewds anw augle

0f one Scc

fpe =
tie parellax

oue Sccond

ond of avc.

Adistance of a s tar

of Whigh s

o} arc

" » . combination of

farS'Cc

&
8
‘?aullax and  Onc Secoud

L

of arc 4
If the CEarth- Sun
distauce s regreseuted
by 1 (b.v.y, thew,
_ 1 = FCtawyp
n .
d = |
tauw p

4d wf”’ be in

Astronpmical Units

e

Compare onc parsec Celestial |
With oue light - year Sphere —™—p
gortt
{
Ipe ' >
(only whae p = 1" ) t ’

!
I
!
t
< d 3
1 (:‘w Che gemeral case) f
[§ the Earth- Sun distauce is weasvred ju lacbres,

" -
Bhew,  [5x10 m x tawp o od = I'§xi0 m

d | taw 7
Now, from the definition of the parsec, Lp = 1"
and A = 15k m Clearly, ig Lp=0"5 (0°5°)
taw | | thew, d = 2pc; f £P=°'3!
= l'Sx(o"lm thew d = l1ppec,and So on.
4+ 821078 .E.
d = 3’"3410161*& 200, Tuvne 30

ch,




